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EXAM 
 

Course: BE 414 Financial Statement Analysis and Equity Valuation  
  
  
Date:  21st May 2019 

Time: 0900 - 1300 
  
Number of pages: 
  
Number of questions:            
 
Exam aids:  

3  + Appendix (16 pages) 
 
5 
 
Calculator with empty memory (no communication) 
Dictionary 

  
  
General information: All questions are to be answered. You may answer the exam in 

English or Norwegian. 
 
___________________________________________________________________________ 
 
Exercise 1 (20%) 
 

a) The following earnings and dividends forecasts made at the end of 2018 for a firm 
with $20 book value per common share at that time. The firm has a required equity 
return of 10%. 
 

 
2019E 2020E 2021E 2021E 2022E 

EPS 4.06 5.21 4.22 5.40 5.88 
DPS 0.97 1.21 1.34 1.45 1.64 

 
Forecast book value per share, return on common equity (ROCE), and residual 
earnings for each year, 2019-2022. Assume that residual earnings will grow at a rate 
equal to growth in historical GDP (4%), after 2022. What is the value of one share in 
the company? 
 

b) Do you agree with the following statement?  
“The abnormal earnings growth valuation model is more sensitive to the required 
return estimate than the residual earnings valuation model.”  
Explain (max ½ page). 
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Exercise 2 (20%) 
 

a) We are at the end of year 2018. Earnings per share for SnapTalk Inc. is 40. Book value 
per share for 2017 was 222.22. Required return is 9%. The firm pays no dividends. 
The market’s implied long term growth rate in residual earnings is 4%. What is the 
market implied growth rate in earnings for 2019? 

 
b) Some investors believe that it is possible to estimate a true and objective intrinsic 

value of equity. Do you agree? Explain (max ½ page). 
 
 
Exercise 3 (20%) 
 

a) The market value of Faceblook Inc. is $10 000 000. The firm has 100 000 stocks 
outstanding, and has issued 30 000 call options on its own stock with an exercise price 
of $79. Estimate the contingent liability. The firm pays a tax rate of 35% 
 

b) What is a hidden dirty surplus? Explain (max ½ page). 
 
 
Exercise 4 (20%) 
 
You are given the following income statement: 
 

GAAP Income statement 
 

  Revenue 5000  
Operating expenses (4000) 
Interest expense (150) 
Income before tax 850  
Income tax expense (300) 
Net income 550  

 
 

a) Do a tax allocation to operations, using both the top-down and bottom-up approaches. 
Use a tax rate of 35%. 
 

b) Why is it important to reformulate financial statements before you do a valuation? 
Explain (max ½ page). 
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Exercise 5 (20%) 
 
A firm with a return on common equity (ROCE) of 25% has financial leverage of 35% and a 
net after-tax borrowing cost of 5% on $250 million of net debt.  
 

a) i)   What rate of return does this firm earn on its operations? 
 
ii) The firm is considering repurchasing $160 million of its stock and financing the 
repurchase with further borrowing at a 5% after-tax borrowing cost.  What effect will 
this transaction have on the firm’s return on common equity if the same level of 
operating profitability is maintained? 

 
b) When we are identifying sustainable earnings it is important to consider, among other 

items, both “realized gains and losses on shares” and “unrealized gains and losses on 
equity investments”. Why is it important to consider these two items? Explain (max ½ 
page). 

 


































